Hr > 1500 GeV

N;, Ny Mr; [GeV] Z—vi Lost lepton Multijet Total background Data
400 — 600 31 T{(stat) +7(syst) 7.0 +8 ?(stat) +1.5(syst) 0.3 £0.0(stat) £0.2(syst) 39 fﬁ(stat) +8(syst) 35
. 600 — 800 12 *3(stat) £3(syst) 2.2 F03(stat) £0.8(syst) 0.02 +0.01(stat) +0.01(syst) 14 F3(stat) £3(syst) 8
2-3j,0b 800 —1000 | 5.1 Fji(stat) £1.5(syst) 0.6 +£0.1(stat) +0.4(syst) <0.01 5.7 Tha(stat) £1.5(syst) 4
1000 — 1400 | 4.0 F95(stat) £1.5(syst) 1.2 £0.1(stat) £0.6(syst) <0.01 5.2 13 (stat) £1.6(syst) 3
> 1400 1.0 £0.2(stat) £0.5(syst) 0.4 £0.0(stat) £0.3(syst) < 0.01 1.4 £0.2(stat) £0.6(syst) 2
400 — 600 8.2 T31(stat) £2.9(syst) 1.8 703 (stat) +0.8(syst) 0.1 £0.0(stat) +0.1(syst) 10 F3(stat) £3(syst) 2
2-3j,1b 600 — 800 3.1 13 (stat) £1.0(syst) 0.3 £0.1(stat) +0.3(syst) <0.01 3.4 T13(stat) £1.1(syst) 2
800 —1000 | 1.3 +°7(stat) +0.5(syst) 0.2 £0.1(stat) +0.2(syst) <0.01 1.6 i 7(stat) +0.6(syst) 0
> 1000 14 +°7(star) +0.7(syst) 0.2 03 (stat) £0.2(syst) <0.01 1.6 +°§(stat) +0.7(syst) 2
2-3j,2b > 400 0.0 +gg(stat) +0.0(syst) 0.0 +° 7 (stat) £0.0(syst) 0.02 £0.00(stat) £0.01(syst) | 0.0 75 1(stat) £0.0(syst) 1
400 — 600 32 *7(stat) +7(syst) 7.2 H: g(stat) +1.9(syst) 2.9 T0%(stat) £1.2(syst) 42 *7(stat) £8(syst) 47
. 600 — 800 12 (stat) £3(syst) 12 +f’g(scat) +0.4(syst) 0.2 +£0.1(stat) +0.1(syst) 13 tg(stat) +3(syst) 17
4—6j, 0b 800 —1000 | 5.2 %k }](stat) +1.5(syst) 1.2 *03(stat) +0.5(syst) 0.02 *0:%(stat) +0.95(syst) 6.4 T12(stat) £1.5(syst) 6
1000 — 1400 | 4.1 F97(stat) £1.5(syst) 0.2 T3 (stat) £0.2(syst) 0.01 T2 (stat) T002(syst) 4.4 02(stat) £1.5(syst) 8
> 1400 1.0 £0.2(stat) £0.5(syst) 0.1 iO O(stat) £0.1(syst) < 0.01 1.2 £0.2(stat) £0.5(syst) 1
400 — 600 16 *3(stat) £4(syst) 4.5 T08(stat) £1.1(syst) 1.5 +0.2(stat) +0.7(syst) 22 3(stat) +4(syst) 18
) 600 — 800 6.0 T2 (stat) £1.5(syst) 1.0 £0.1(stat) +0.4(syst) 0.1 £0.0(stat) +0.1(syst) 71+ 1(stat) +1.6(syst) 8
4-6j,1b 800 — 1000 | 2.6 *07(stat) +0.8(syst) 0.2 £0.0(stat) +0.2(syst) 0.01 *09(stat) +£0.01(syst) | 2.8 +gz(s.tat) +0.8(syst) 3
1000 — 1400 | 2.0 Fo7(stat) +0.8(syst) 0.2 £0.0(stat) +0.2(syst) 0.01 Tyo)(stat) £0.01(syst) | 2.3 TZ(stat) £0.8(syst) 0
> 1400 0.5 *13(stat) £0.2(syst) <0.01 <0.01 0.5 +3§(stat) +0.2(syst) 1
] 400 — 600 3.4 T27(stat) £1.8(syst) 2.4 £0.4(stat) +0.8(syst) 0.4 0 1(stat) £0.2(syst) 6.3 725(stat) £1.9(syst) 5
4—6j,2b 600 — 800 | 1.3 +1(stat) £0.7(syst) 0.5 +0.1(stat) +0.3(syst) 0.03 £0.01(stat) £0.02(syst) | 1.8 *1%(stat) £0.7(syst) 1
> 800 1.1 Fh2(stat) £0.7(syst) 0.6 £0.1(stat) £0.5(syst) <0.01 1.8 FH2(stat) £0.8(syst) 0
400 — 600 5.4 757 (stat) £2.4(syst) 4.8 T08(stat) £1.3(syst) 1.2 703 (stat) +0.5(syst) 11 T3(stat) £3(syst) 4
> 7, 0b 600 — 800 2.0 t},_g(stat) +0.9(syst) 1.4 £0.2(stat) £0.6(syst) 0.1 £0.0(stat) £0.1(syst) 3.5 Tl4(stat) £1.1(syst) 3
- 800 —1000 | 0.9 TpS(stat) £0.4(syst) | 0.03 £0.00(stat) £0.01(syst) | 0.01 *000(stat) £0.01(syst) | 0.9 +3§(star) +0.4(syst) 1
> 1000 0.9 F2%(stat) £0.5(syst) | 0.01 £0.00(stat) 0.01(syst) <0.01 0.9 T0(stat) £0.5(syst) 2
400 — 600 18 L 1o(stat) +1.2(syst) 3.6 0.4(stat) +-0.9(syst) 0.8 £0.1(stat) 0.4(syst) 6.1 H 1o(stat) =1.6(syst) 7
>7j,1b 600 — 800 0.7 +°g(stat) +0.4(syst) 1.0 £0.1(stat) +0.5(syst) 0.1 £0.0(stat) +0.0(syst) 1.7 +f’i(stat) +0.7(syst) 4
> 800 0.6 05 (stat) £0.4(syst) 0.6 £0.1(stat) +0.4(syst) <0.01 1.2 T0%(stat) +0.6(syst) 2
400 — 600 0.5 703 (stat) £0.3(syst) 2.1 T3 (stat) £0.5(syst) 0.3 £0.0(stat) +£0.2(syst) 2.9 T0>(stat) £0.7(syst) 8
>7j,2b 600 — 800 0.2 Tp2(stat) £0.1(syst) 0.8 iO 1(stat) £0.4(syst) 0.02 +£0.01(stat) £0.02(syst) | 1.0 £)3(stat) +:0.4(syst) 2
> 800 0.2 T3 (stat) £0.1(syst) | 0.01 £0.00(stat) 0.01(syst) <0.01 0.2 +f’z(stat) +0.1(syst) 0
26 >3 | 400-600 1.3 T3 (stat) 713 (syst) 0.3 703 (stat) £0.2(syst) 0.1 £0.0(stat) +0.1(syst) 17 3 }(stat) +1.5(syst) 2
) = > 600 0.9 *0 2(stat) *09(syst) 0.01 £0.01(stat) 0.01(syst) <0.01 1.0 tg_g(stat) Ta(syst) 1
>7j,>3b > 400 02 0.7 £0.1(stat) +0.4(syst) 0.1 £0.0(stat) £0.1(syst) 1.0 F02(stat) +0.4(syst) 1




